Puissances de Dix (F)

Trouvez chaque produit ou quotient.

2,2506 = 10% = 9,71 x 103 =
8,06 X 10! = 8,53 x 101 =
2,273 x 10% = 4,25+ 103 =
49 +10% = 9,08 =+ 103 =
4,62 x 103 = 7,501 x 102 =
2,134 + 10% = 5,81« 101 =
5,14 + 102 = 5912 +~ 10 =
6,0945 + 10* = 3,815 x 10* =
1,6 + 102 = 3,86 x 102 =
1,679 x 103 = 4,1 x 103 =
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Puissances de Dix (F) Solutions

Trouvez chaque produit ou quotient.

2,2506 + 10% =0,022506 9,71 X 10° =9 710
8,06 x 10* = 80,6 8,53 x 10' = 85,3
2,273 x 10* = 227,3 4,25 +10°=0,00425
4,9 + 10% = 0,049 9,08 = 10° = 0,00908
4,62 x 10°=4620 7,501 x 10% = 750,1
2,134 + 10*=0,02134 5,81+ 10'=0,581
5,14 + 10 =0,0514 5912 +10'=0,5912
6,0945 + 10 = 0,60945 3,815 x 10* = 38,15
1,6 + 10°=0,016 3,86 X 10* =386
1,679 x 10°=1679 4,1 x 10°=4100
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